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Read the following passages and respond to the questions that follow each
passage. Your responses should be based on the passages.
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Questions number 1to 5

Between the thirteenth and the sixteenth century, European feudal lords
accumulated large amounts of money by exploiting the serfs. The accumulated capital was
put to newer uses. They gave financial support to explorers who discovered new lands and
routes. Columbus crossed the Atlantic Ocean and discovered the New World. Vasco da
Gama circumnavigated the African continent and discovered a safe trade route to India and
the East. One of the ships in Magellan’s fleet returned to Europe and proved that it was
possible to circumnavigate the Earth. Another use of the accumulated capital was the
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patronization of great artists like Leonarde da Vinci, Michelangelo and Raphael. These
artists revolutionized the arts of painting and sculpture and represented the human body in
great detail. Artists like da Vinei also studied anatomy as it would help them represent the
human body accurately in their art.

Anatomy was not the only science that evolved in this peried. Alchemists who
wanted to find the Philosophers’ Stone and the Elixir of Life ended up discovering various
new elements like Phosphorus and Chemistry evolved as a Science. Copernicus proposed
that Sun and not Earth, was the centre of our solar system. Scientists like Kepler and
Galileo used the experimental method to prove him right. They believed that the book of
Nature was written in the language of Mathematics. Apart from the various discoveries,
Scientific Method itself evolved in this period. Scientists proposed an idea, conducted
experiments to prove it, recorded the proceedings of the experiment and kept the records
open for scrutiny by others working in the field. They believed that man had an almost
unlimited potential of changing the world for the better. Though the Church was immensely
rich and powerful, people began to discard a life of blind belief in destiny and a Spirit of
Inquiry evolved. The new ideology of Humanism emphasized the capacities and efforts of
individual humans. European scholars revived the classical Greek and Roman texts and
popularised them with the new technique of printing developed by Gutenberg. The word
renaissance means revival. All these interrelated phenomena are collectively called the

Renaissance.
1. OsoiEd e
w1, e 9 T wifgear=h gear
1. Tufeeas geften 3ga
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Renaissance means

a. Beginning of Greek and Roman literature

b.  Rise of the Spirit of Inquiry

c.  Development of Humanism

d.  Decline of Church

(1) All of the above (2) b,candd
(3) a,bandc (4) bandc
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According to the above paragraphs, what are the factors included in Humanism ?
a. Importance of individual capital

b.  Importance of individual efforts

c.  Popularisation of new printing technology

d. Belief in human potential

Which of the statements given above are correct ?

(1) a,bandd (2} b,candd

(3) bandd (4) aande
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Which of the following statements is/are correct ?

a. Earlier the Earth was considered to be at the centre of the solar system.

b.  The earlier rich church got impoverished later. |

(1) aonly

(2) bonly

(3} Neitheranorb

(4) Bothaandb
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From the paragraphs above, which of the following statements are true ?

a.
b.

C.

d.

(D
(2)
(3)
(4)

Scientific development is closely connected with the development of arts.
Study of Anatomy is a must for the arts of painting and sculpture.

Changes in the printing technology played an important role in bringing about
the European Renaissance.

Capital can initiate development in arts and sciences.
All of the above are true.

a, cand d are true, b is not true.

a, b and ¢ are true, d is not true.

a, b and d are true, ¢is not true.
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Which one of the following statements is/are true ?

a.
b.

(1)
(3)

Gutenberg invented the printing press.

The serfs were exploited by the European feudal lords to discover new routes.
a only (2) bonly

Neither a nor b (4) Bothaandb
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Questions number 6 to 10 :

Human possesses some rights given by nature itself. The concept of “Human
Rights” is developed in modern era with the object to provide them to the citizens of
all countries around the world. Human Rights include right to life, livelihood
alongwith speech, association and religious belief. During 1215 the law known as
“Magna Carta” was passed in England. Since then the concept of control over the
rights of the State took birth. It was more explained due to the Petition of Rights of
1628 and Bill of Rights of 1689. The object behind the American freedom and
American declaration on fundamental freedom was also to protect the human

rights.

In 1948 the Universal Declaration on Human Rights was made by the United
Nations and at the same time framing of the Constitution of India was going on
due to Indian Independence. The framers of the Constitution were influenced by
the provisions of this declaration and hence some of the provisions of the said
declaration are made in the third part of the Constitution of India. As per Article
32 of the Constitution, if the human rights which are given as fundamental rights
to the citizens get violated, it can be challenged in the Supreme Court. Due to
international pressure and developments the Protection of Human Rights Act was
passed in India in the year 1993. The National and State Human Rights
Commissions were established by this Act. If human rights are violated, recourse
can be made to filing a complaint to the National or State Human Rights

Commission.

The rampant violation of human rights of women can be seen in India. Though
the Constitutional provisions regarding human rights of women are made
alongwith special laws made by Government, due to social mentality of male
dominance, women are given secondary status. Well known economist Mr. Amartya
Sen had written an article “Missing Women” in a British Journal in the year 1992,
where he mentioned that ten crore women are lost. Lost means they were killed
before taking birth as female foeticide. Education is a big tool for change. Economic
and social empowerment of women can be done through that means. The decision
given by Supreme Court in Vishakha case has not been yet implemented at the
major places of employment, hence the awareness of women laws is essential in the

society and especially among women.
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Choose the correct statement.

a.  All human rights are legal rights.

b.  All human rights are fundamental rights.

¢.  All fundamental rights are human rights.

(1) Only a is correct (2) Botha and b are correct
(3) Only cis correct (4) All are correct
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Which of the following statements is/are correct ?

a. Education of women alone can prevent violation of their human rights.
" b. Women should be more aware of the women laws than anyone else.

(1} aonly (2) bonly

(3) Neitheranorb (40 Bothaandb

8. it o e i e 2
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(3) It e (4) A9 TR

Which of the following statements is/are correct ?
a. Violation of human rights can immediately be challenged in the Supreme

Court.
b.  The Americans got independence only to protect the human rights.
(1) aonly (2) bonly
(3) Neither anorb (4) Bothaandb
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All fundamental rights are

(1) Part of universal declarations

(2) Enforceable by Supreme Court only

(3) Given to all persons and they can challenge its violation

(4) None of the above

10.  HiEen TEelison A 8% wHd
(1) T FRIE FAT Fed
(2) Afvaw sfzmeaT=Ar memTga
(3) wara =mEeETe o
(4) =l vHd T

Women empowerment can be done
(1) by making strict laws

(2) through universal declarations
{3) by Supreme Court deciéions

(4) None of the above
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Questions number 11 to 15 :

It is also good to love: because love is difficult. For one human being to love another
human being: that is perhaps the most difficult task that has been entrusted to us, the
ultimate task, the final test and proof, the work for which all other work is merely
preparation. That is why young people, who are beginners in everything, are not yet
capable of love: it is something they must learn. With their whole being, with all their
forces, gathered around their solitary, anxious, upward-beating heart, they must learn to
love. But learning-time is always a long, secluded time ahead and far on into life, is:
solitude, a heightened and deepened kind of aloneness for the person who loves. Loving does
not at first mean merging, surrendering, and uniting with another person (for what would a
union be of two people who are unclarified, unfinished, and still incoherent ?), it is a high
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inducement for the individual to ripen, to become something in himself, to become world, to
become world in himself for the sake of another person; it is a great, demanding claim on
him, something that chooses him and calls him to vast distances. Only in this sense, as the
task of working on themselves (“to hearken and to hammer day and night”), may young
people use the love that is given to them. Merging and surrendering and every kind of
communion is not for them (who must still, for a long, long time, save and gather
themselves); it is the ultimate, is perhaps that for which human lives are as yet barely large

encugh.

11. SEsr=a FEUgaR ga= Saediat W0 X0 FaT HE 38 SR,
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.

. o RrEen gv 98 arm onfir o gvT fesdn FW Fa @ w3 o,
T, wgrErd Saadien wadi=g1 He Ieh Uhaesdl AT d $ai STH FIUaTe S HE AT,
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(1) wad § (2) & afir =
(3) 31 I HE (4) F g

According to writers’ thinking to love another person is a difficult task because
a. one cannot love another person without any purpose or aim.

b. it is the final examination for which human being prepares oneself after doing
all other tasks.

c. it takes a long time to learn it and it is difficult to work with courage and
perseverance.

d. it requires a person to gather all his’her energies and strive for completing all

other tasks.
Which of the above statements is/are correct reason/s ?
(1) bonly {2) bande
(3) Allbuta © (4) candd
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How does one learn to love ?

(1) Person has to remain alone for a long time or may be for all life for developing
capacity to love.

{2} Person learns to love by avoiding merging, surrendering and uniting with
another person.

{3) Person learns to love by working hard as if she or he is preparing to appear for
the final examination.

{4} Person learns to love by doing sacrifices and working hard for other persons
who are needy.

13. “gEamrdl WA Ay fava @ e W w0, o das fafedt dear wen wm e
g ?
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What may the writer be wanting to say when he writes, “to love means to become

world in himself for the sake of another person” ?

(1}  Writer contradicts with his argument that love does not mean merging,
surrendering or uniting with another person.

(2) Writer suggests that a person should surrender his or her personal life for
another person so that she or he could be happy for ever.

(3) Writer might be suggesting that a person should expand her or his perspective
towards another person unconditionally.

(4) Writer argues that when a person loves another person then she or he
considers that she or he possesses that person and therefore she/he can keep
him or her happy throughout life.
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How will young persons become capable of loving another person by hearkening and
getting hammered ?

(1) Hearkening and hammering makes a person capable of learning to love and

then love another persdn.

(2) Hearkening and hammering helps a person to look into one’s inner self and

become aware of it and attain perfection by spending time alone.

{(3) Both persons aiming to love each other should become aware of their own inner

self and by working hard they expand their world for each other.

(4) Hearkening and hammering might be helping one to be aware of one’s self and

acquire all capabilities required for loving another person by self developing.
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(1) & aTesdT HIvdE! dHaa Tal.

(2) % 93T Il Td AT TR,

(3) Wad § HAaHEE AR,

(4) < IMSA1 Td AfAET 2TE.

Writer writes, “... for learning to love one needs to spend long time or may be life in

seclusion ...”. This means that he assumes that,

a. it is not possible to learn things in the presence of other persons as they
influence our thoughts.

b. in seclusion a person gets time to reflect and examine his or her personal
experiences.

¢.  seclusion protects a person from other persons nurturing different meaning of
love, that is not matching with her or his meaning of love.

d.  Seclusion allows a person to listen carefully to one’s inner voice, widen one’s

world for becoming capable of loving.

Which of the assumption/s is/are implicit in the paragraph ?

(1)
(2)
(3)

(4)

None except d is not implicit.
All but ¢ and d are implicit.
Only b 1s implicit.

All except d are implicit.
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Hreodl gea =T Gefit SueieuaT %A A0 anavEs AR, e Widl o, 99, fO, wew arm
i aTieT Tigatear atd s & aEd W oTR,

Ta9%A (Innovation) 89 I 3TId CHEICHE A HHR AVIEER Iq 8§ Fad
g weft s AR s =g 9 SR, TEEmETe AEETd e WasvE 397,
Trfauarqut sgwe afaae fhar wirar arEe FEam TR S I e YU gew Jd 3 9
HHTEAIRTE ATTetiehe Agd Afrenis i fowm uira v wgvmht gia smam.

qurfy e TeHE TS TR AEGsHHT=AT Joi WIGHMETET Y SO SqET WOE HAEERET
TEE 9§ AT IE T B aat el sEee IR SO g |
g Tediea ot e &1 o,

Zart me ", wrfte fRdial oee Tarwn 3 wwies st faefedren wmmfiers ma
et sfimar=a seamdt T afte W feen s Hgwar 7 wzad ar=h Gl SHewn | EEE
FOTERE T A6 A, WRATAT B A7 ARl JUR ATE. U ST Sy eed d
FAYHHA TG N0 TR TR STHIIEF A A higd RO TS AR, I A1 6
Iy gfgRRivT SYTaT AU A8

FIEHFT T Teoa a1 TESURT 311U qataworesd yvaa e et S9ad 9 J@d= o
Il WA TP dad] AgWEs™  SHGE g [JunEdll  grged. fowfEa  wwamEre
g emaeff ST TS TEEHISI gEIRAIGAE v Fiehifs wvad fawmme wimm Fmin w5

.

FHTE] BIFTATS! I / SPACE FOR ROUGH WORK



A 17 W05

Questions number 16 to 20 :

Innovation is going to be critical for India not only for growth and competitive
advantage, but also to ensure that our future development is sustainable and inclusive. Our
country faces a range of unmet needs related to critical areas such as health, education,
agriculture, energy and skills. It also faces immense challenges related to demography, with
55 crore below the age of 25 for whom opportunities must be provided, disparity, driven by
the multiple deprivations of class, caste, gender, and region, and the challenge of

development, with the urgent need to lift crores of citizens out of dire poverty.

Innovation is going to central to providing an answer to these most pressing
challenges and for creating opportunity structures for sharing the benefits of the emerging
knowledge economy. Affordable solutions, innovative business models, or processes which
ease delivery of services to citizens will allow more people to join the development process

and also enable looking beyond the conventional way of doing things.

However, our unique needs call for a new model of innovation that focuses on
affordability and inclusive growth and lifts people at the bottom of the pyramid out of
poverty and deprivation. For decades, the trajectory of innovation has reflected the
priorities of the developed world focusing more on the desires of the rich, and directing
ecosystem of talent and capital to satisfy them. India cannot follow that path. Our
innovation must instead focus on the poor, and their most essential wants. The old
consumption-intensive approaches cannot work, given the sheer scale of our needs and our
vast population. Instead our innovation needs to be frugal with scarce resources, affordable
for our poorest citizens and environmentally sustainable. The work bf India’s National
Innevation Council reflects this thinking. Their effort has been aimed at creating an Indian
model of Innovation, of the people, by the people and for the people. Only through this
inclusive approach where people are beneficiaries in knowledge creation and generation can

we hope to create more sustainable models of development.
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16. WA FI¥cd fIehraran FHsma Agcar=T 318 BT
(1) YW Tk HIATUH 3 302 T I T 310 02,
(2) TaT EATHET TaB TGS 50% TN TA IT9F I g
(3) YaTE! AiwuEd GY A IR & FEAR SNGH =1 @ieft 31T,
(4) &V AFTEAE Tt ITARY FEA U ATEIIH AR,
Skill development programme is important for India because
(1) Indiais an Agrarian Economy with a lot of unmet needs.
(2) Services sector contributes around 50% of the Gross Domestic Product.
(3) India has a large population, the majority being in dire poverty.

(4)  Young population needs to be provided with opportunities.

17. Y& s faum 9y ang 2
9. HegreyT H9cdl fosrET=AT Hige 9egT qHEvET g e
(1) %Fd A (2) AT E

(3) IR (4) TB AN

Which of the following statements is/are correct ?

a. Sofar we have been meeting the needs of developed countries only.
b.  Our present model of development has degraded our environment.
(1) aonly (2} bonly

{3) Neither (4) Bothaandb

18.  UEIAUh! v faema ara amg ?
A, gIHy REEEE) s rid g dieaeiat 98 $Higd HEe .
9. ST HHIqT SATUHIH I S0 YT Fer e,
(1) ®&FF A (2) ®Fd T

(3} HIE A 4) R AAT

Which of the following statements is/are correct ?

a. For an all-round development we should ceoncentrate on our poverty and
population.

b.  We should try to produce more and more with less and less.

(1) aonly (2) bonly

(3) Neither (4} Bothaandb
Feed] HETHIS! SR | SPACE FOR ROUGH WORK
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19. g s Gy @ omg 2

H, o quar oy fawrm wy wewa ATEL.

9. 3w wnaren fawm wdey Forr,

(1) aFa A (2) S

(3) e AT 4 AT

Which of the following statements is/are correct ?

a.  Without innovation, we cannot progress.

b.  So far the development in India was not inclusive (all encompassing).

(1) aonly (2) bonly

(3) Neither (4) Bothaandb

20. Y wiv faum geie R ?
A, e i I AFATHE PO A el Togadl.

q. SIS WY TV WvEd I mg .
(1) ®Fd A
(2) wFaa

(3) U ATEl
(4) TR HTH

Which one of the following statements is incorrect ?

a. We have not been adequately innovative so far.

b.  Unless the people join in, we cannot have sustainable development.
(1) aonly

(2) bonly

(3) Neither

(4) Rothaandb
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U9 HHTH 21 9 25 ;

WHE eV A aEde SR (Y M Sgaw qur) nfir ageviata W ().
GEASIHhAS df SIaedl 13 THvdT $a% o U1 HIS MEAE. Fa€IH R faueT e WevE B
(@ fr qw). T TR woaTEt Shhar R (S wee T w1d) Jvamadht ad s . T

TaEtE aEy wHiFdt v ol w1, faeer smtess are dOn @ dEsy
U= FHEN (Jg1. diEfiem ameEs) fafefa sat I, faeo A= vodietn aew 3
o] TS e ST, TEGIRIS T TG FTWHa| 71,

TWT: 2 U=l TahiAd Y- 36cvH INEd el Fdrd 70 HEl sHicaFRn 1fiHhd 2
ey fRdlirmEdl atel AaT. ¥ gufedwRr " (W) of dnddl), Hhdde A
feriftefores dier o fafenftd w8 wfera fhdt aam =t =g e

TUd o fF U g $HevE R gfeEwET Afheal idd o, of 7 M amg T
SIMe FEhS 9eH AR ¢ i gurea Piuvt fRriwumEEl 3ugw THedH grarTer wse i
B ;I wEe oA i e fogree 51 yEHImER aTd.

AfeTehgR Fremm= qvaT (U TREUTHT SR TH daR al. o gasa o
feufds T AR FodT HIHEAE HERY Bd FU SoagLiod St Afehy 3TEnd 6 aEd
9 FARR FA. B OFA IHOIA =T INGA A9 10 Fro faga Rufaw w9 gE=n geE
Yogaia) Hagen At SAgA gas @ o 3Ry YehdTd Wiy TerenEey oy wehd ATE. @ whed
sfaera w7 rga faga @910 4B 3 souEets foga yr a2 gdararee & s §R 9 faga
STTANT St Hlfved ST,

Questions number 21 to 25

Aerosols are dispersions of liquids in gases (like fog and many sprays) and of solids in gases
(such as smoke) : the particles are often large enough to be seen with a microscope.

Emulsions are dispersions of liquids in liquids (such as milk).
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The preparation of aeroscls can be as simple as sneezing (which produces an aerosoll.
Laboratory and commerical methods make use of several techniques.

Chemical precipitation sometimes results in a colloid. A precipitate (e.g. silver iodide)
already formed may be dispersed by the addition of a peptizing agent (e.g. potassium
iodide). Clays may be peptized by alkalis, the OH™ ion being the active agent.

Emulsions are normally prepared by shaking the two components together, although some
kind of emulsifying agent has to be used in order to stabilize the product. This emulsifier
may be a soap (a long chain fatty acid), a surfactant (Section 23.11), or a lyophilic sol that
forms a protective film around the dispersed phase. In milk, which is an emulsion of fats in
water, the emulsifying agent is casein, a protein containing phosphate groups. That casein
is not completely successful in stabilizing milk is apparent from the formation of cream on

the surface : the dispersed particles coalesce into oily droplets which float to the surface.

Aerosols are formed when a spray of liquid is torn apart by a jet of gas. The dispersal is
aided if a charge is applied to the liquid, for then the electrostatic repulsions blast the jet
apart into droplets. This procedure may also be used to produce emulsions, for the charged
liquid phase may be squirted into another liquid.

Colloids are often purified by dialysis. As in the discussion of Donnan effect membrane (e.g.
cellulose) is selected which is permeable to solvent and ions, but not to the colloidal
particles. Dialysis is very slow, and is normally accelerated by applying an electric field and
making use of the charge carried by many colloids; the technique is then called
electrodialysis.

21.  SATTAYUTET & E1 — =41 Hed aftld e S wehdl
(1) Tehig &=
(2) Tor@ geshim &
(8) sIehgehia &
(4) =l THEl A
Rate of dialysis can be enhanced with the help of
(1) Magnetic field
(2) Electromagnetic field
{3) Nuclear field
{4) None of the above
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22
JIE (3HEIF) WTHI SO Yeid aa) HIvaTe THI Ugd! ded a1l S 9 2
(1) = (2) S«
(3) wEd (4) FHCHTHRERE
Emulsions can also be prepared by using the principle similar to the preparation of
(1)  Sols (2) Gels
(3) Aerosols (4) Emulsifiers

23.

ZUTeAT TENTTET JTH B0 g §

(1) wRAN e , (2) RS AIEH

(3) Tu AR (HEA) TR (4) halaehe ITEF

The cream obtained on the surface of milk is

(1) dispersed proteins (2) dispersed fats

(3) dispersed casein (4) dispersed carbohydrates

24.

e IGFTA GaETTeAl ST e TR A

(1) IFEI IR ZaTEEd TATH Hear

(2) za M0 SEgEvEE Ay R sEE yeetEsd e Hear
(3) & I v I STgEHId et s yifee sheam

(4) el Siorad! A8

Aerosols are dispersions of liquids in gases formed by

(1) Tearing apart a spray of gas with liquid

(2) Tearing apart a spray of mixture of gas and liquid with solid
(3) Tearing apart a spray of mixture of liquid and solid with gas

(4) None of the above

25.

BT ARl HAredr Adi=aT seshudl Sty wiFda Frism smEa

(1) TEgNA A (2) FHGIHTA SATHEATT

(3) TG A (4) = oHdl A

In the process of alkaline peptization of clays _______is the active agent.
(1) Hydrogen radicals (2) Hydroxyl radicals

(3} Hydrogen ions (4) None of the above
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9= HHTE 26 & 30 :

e gaTa

AP TABIOME T TeATEEId 3R, YAHIA[, TEUN 1914 =61 GHRE A gy
WS SIS gRAT TAeiedl AiSET Al Al CPNIE] qHE) WO WUP dRw 7w
THHTAT A=A Tefiohsel wMel e, S0 90y Wiear=a1 6 Sagiiat ais PR Savam
U wEm TR I Wifafae T ard Jogd. e Aifas oM e T e Hewia
HEAS TEE F T HIBM HETIF THA TE FHE FreEmEest T mEd, fhar w6 fydwe
TEY IFAT 91 96 HHA Toled] T I §F ¥ @y Soma wes waifie g o, o)
Taas S WER I AR yeEEHE Svie gk, Wy 3 Avie e geaa: SR
TSIATA AIEAUT a3 SAEN HR Toacid daied qefifE om gt 3 wim F.
st e (afts unR) Hooam oY =R R qul uaa sl aifgdie dge smfeen
TSATeIHER B, TG AT UGN TN A9 Hged WIed e quareaT g¥i i vy way
FF TGBH FE, TG AGUYE TSI gHug W HAl A9 Togdl. I § W T
B FM T A9 g; A S A ST TSR § TeAfae At S g 9,
AL TSN F=TeH A1 BT Higd Sd a1 @ w1 wid ngq s i anf
TGARIY A& T 7 FETAR 3T TR

Question number 26 to 30 :

The beginnings of a science

The science of international politics is in its infancy. Down to 1914, the conduct of
international relations was the concern of persons professionally engaged in it. In
democratic countries, foreign policy was traditionally regarded as outside the scope of party

politics; and the represéntative organs did not feel themselves competent to exercise any
Feed] HHTEIS! IR / SPACE FOR ROUGH WORK P.T.O.
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close control over the mysterious operations of foreign offices. In Great Britain, public
opinion was readily aroused if war occurred in any region traditionally regarded as a sphere
of British interest, or if the British navy momentarily ceased to possess that margin of
superiority over potential rivals which was then deemed essential. In continental Europe,
conscription and the chronic fear of foreign invasion had created a more general and
continuous popular awareness of international problems. But this awareness found
expression mainly in the labour movement, which from time to time passed somewhat
academic resolutions against war. The Constitution of the United States of America
contained the unique provision that treaties were concluded by the President “by and with
the advice and consent of the Senate”. But the foreign relations of the United States seemed
too parochial to lend any wider significance to this exception. The more picturesque aspects
of diplomacy had a certain news value. But nowhere, whether in universities or in wider
intellectual circles, was there organized study of current international affairs. War was still
regarded mainly as the business of soldiers; and the corollary of this was that international
politics, was the business of diplomats. There was no general desire to take the conduect of
international affairs out of the hands of the professionals or even to pay serious and

systematic attention to what they were doing.

26,  AWEN TTEEHT F07 Al AITEs g ?
(1) e S
(2) sAfEdd e
(3) T, T FTEREH THNETE b=l AN Siee Teledt SHmdie Sl
(4) Il S

Who were more aware about international problems ?
(1) The British people
(2) The Americans

(3) People from countries like Germany and France connected to each other by
land routes

{4) Asians
WTETWI'\‘TI’& <A / SPACE FOR ROUGH WORK
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27.  IarEeEd 79v 3 frsd Frg weRal i guuEHie S e T .

(D =eA ey

(2) FRHaErd

(3) G ITW AT TWOTAT T W g

(4) areafaw adie vhe FEe

From the paragraph we can conclude that the leaders of the working class in Europe

were

(1) Great academicians

(2) Idealist

(3) Apartofa group having a good understanding of war

{4) Unable to grasp the reality

28, WIela 3 For/d faumA s ameA 2
. fomme wawmEa W =w aviney deem TpmHed SIRUYiE TEUTE gEid o
e,
9. UM 299 WOy 9N AT FEE FIR deecst StEtd e,
F. TGRS ToUbeAY STATOE GayToaT TTETe WeeTad fao.
(1) e 37 SO MR (2) o9 faum = Rd
(3) ad € T IR (4) ad o I F T IR

Which of the following statements is/are correct ?

a. Democratic countries studied international relations thoroughly in the first
half of the 20" century.

b.  Labour movements decided the foreign policies of European nations.
c.  US Constitution promoted the study of international relations.

d.  Universities and intellectual circles had little impact on foreign policy

formulation.
(1) Only ais correct (2) All statements are correct
(3) Onlyd is correct (4) Only b and ¢ are correct .
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29.  fqmrem yaswmr=ar yfgew S SyehIEd IOy 4R § CERCH
(1) TE 94T
(2) fafa Fea=
(3) =
(4) WOy G
In the first two decades of the 20! century, foreign policy was a realm of
(1) Political parties
(2} Legislature
(3) Soldiers
(4} Foreign offices
30. 3N gAfaar

9. UG ermed geehi At A P ae e,
F, I FHIR J&IT: WY FITTEEe Fied aid.
3. omichee grenfyg @ Ty W A,

(1) ad =7 31T § ST 3984

(2) Wad % I & S TR

(3) @ faum sty 3TEd

(4) wad 8 FUS 378

The paragraph suggests that

In general, Europeans were unwilling to work in the armed forces.

o

Foreign invasions were common in European countries.
c.  European workers mainly talked about foreign policy.
d. USA had a well-developed foreign office.
(1) Only a and b are correct
(2) Only c and d are correct
(3) All statements are correct

{4) Only d is correct
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9 AT 311 32

ek $UA B 9 3 g SImel Afawdiar YT semed g wEa fRkEwge 39
o g1, Serewond T, Afasw 3em g Sfag ey fmin FEm. w9 Edsur seeon wvE
FIEIdl, YaTe & Sied 9 A= TE gW Id 9. IfaF e 3 aEmEs Seue 99R B
(FTATE TV AfTh S HIBTd Sad Sa], Ieadt @ It o IS ), SETHE Sana 91
AT Tgdl ARG, S T, TEEe TG A0 AEUETate T, SEEE 96
wergt= fordt sterumed ye ot 34, 33 o111 ary, daw e T s Jfaw el I
TS Ihd. qerea decw fRRdie I H9 g wom dfas sgee I s deiE 3
AT, wERdAe g fFvaa g uhRigR @R B 3 O wdhuged fiem sl W smlen
wraegeed Ty esd Igstond W, IW, SR T IREM AHATdl i, USE I g9
TedE YR, I Hogdid g9q aEE SEgdAe FeidEel seer e E W ') Ig
WEIH 3T 8 IETEId] U TV ST9iaT AU Y o g dedn frdia wran daef fisfa
A fus AT Fe G, @S AT TR ded qHd JEATe 9 SceHE guTon B
3T IWURT T TS 1 SIS HIgA YA Il 9. de8] ad Adeiedl HEdgd] awd
FIOAITg a1 grameter forie g semrn fRvaa iR o Feem Mfaw 3o ffldhod ggum
fefia T A Ai). T fede awmm s B gEwE, SRR THTEEEE 9 g e
IO " BN, SENfEEe a9 el yenaiued restedfthee B WkdER #aR et Aa anfur @
FUIHE FEGTERY IO GTode AR §u TRV S 1.

Questions number 31 to 32 :

A biofuel is a fuel that contains energy from geologically recent carbon fixation, such
as plants. These fuels are produced from living organisms. Examples of this carbon fixation
occur in plants and microalgae.  These fuels are made by a biomass conversion (biomass
refers to recently living organisms, most often referring to plants or plant-derived
materials). This biomass can be converted to convenient energy containing substances in
three different ways: thermal conversion, chemical conversion, and biochemical conversion.
This biomass conversion can result in fuel in solid, liquid, or gas form. This new biomass
can be used for biofuels. Biofuels have increased in popularity because of rising oil prices
and the need for energy security. Bioethanol is an alcohol made by fermentation, mostly
from carbohydrates produced in sugar or starch crops such as com, sugarcane, or sweet
sorghum. Cellulosic biomass, derived from non-food sources, such as trees and grasses, is
also being developed as a feedstock for ethanol production. Ethanol can be used as a fuel for
vehicles in its pure form, but it is usually used as a gasoline additive to increase octane and
improve vehicle emissions. Bioethanol is widely used in the USA and in Brazil. Current
plant design does not provide for converting the lignin portion of plant raw materials to fuel
components by fermentation. Biodiesel can be used as a fuel for vehicles in its pure form,
but it is usually used as a diesel additive to reduce levels of particulates, carbon monoxide,
and hydrocarbons of diesel-powered vehicles. Biodiesel is produced from oils or fats using
transesterification and is the most common biofuel in Europe.
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31. qdd R f{um o g 2

A, e e g aet e JR.

g, TS I, TEES § SaUEEe T 0, 78 9 IEEYT $9F 78R F.

(1) & A

(2) H&F o

(3) T A

(4) & anfor & g

Which of the following statement(s) is/are correct ?
a. Carbon fixation is a comparatively recent phenomenon.

b. Each of the thermal, chemical and biochemical conversions results in solid,
liquid and gas form of fuel.

(1) Onlya

(2) Onlyb

(3) Neitheranorb
(4) Bothaandb

32. gl Fivd faum g e 0
¥,  udl I v qan B T
5. A o o adl T firs v T
(1) e A (2) A
(3) IV TE (4) & wfn §
Which of the following statement(s) is/are correct ?
a. Biofuels were not produced before.
b.  Biofuels are not obtained from non-living things.
(1) Onlya {2) Onlyb
(3) Neitheranorb (4) Bothaandb
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WY TR 331 37:

Aol iR — gfteiE, Mg - AygE@ 91 gmifees TeUmed Hued: R @
TEEEY  FEAE. 1 fBR WEuTea 9ehidial TEREHEETH OiEET S99, oEl, A1 gedr fRne
(stability) F¥He A3 ? ‘gmifas FERAME’ (social norms) 3T 9™ IW TR TRE. THITNS
) g1 GHe-EEHET U WS Uesh ST |1 .

wfees e weuet wEeTde fafeay yfve gefaomn SR wersh w1 9 e
e g, e o Soqfauae FEn AT, FETTdie STHTRG T e Yufada 9 S g9 9
et 3 g U6 16T, 81 WIS ST I (content) AT FHama g9 omal. Ia1. fuerm=h
yftert Tgvrel fieam araear gensht #E ame e sman w9, Fiveardl aggwe oy e
qEEE G FEaa g g e v @ wewdsa fEw amde, ufgoeeht, sEans,
AT, T TSR AT e awie e & anievs a™ ke adafowas aned

HYATd,

2 FeHtavas few fowg Tiéa, moem e sl s, saedien FaATEt TEiE Serm S qaE
. e Feeess 9 fuaers o giegl euTE FHad. SediA Y 9rTa g gt e
e Frveamenes fama, 3q1. faereath frarerem o ureTsIa. @ fRuTene fama saedtS T w9
A, T $8 3 | ¢ g, 3. 98w ., e 3gem a7 3.0 i e we,
e, gyt snfor amfae wmENy sEdE. TRierdaey, YirTeT, 789 SemEad /s &
TEAdE. W FEmd sme sead e, O duga: for smde. wd eerde e wede
ialie g1d. e fafay yor e, aestifa (Folkways),aﬁiﬁﬂﬁ(Mores)am (Laws) 1
el e fraeAr ffen s A, aeTde st @ wagreal adar e s wnem
e o 0 9 e #9 aT FE <O 8 HETE! it S HEE IR Jrear.

33. Wi fama &9 weifyar 3 ?

. WSS SoHAfTTs A
(1) ¥, %493 fqumam (2) ¥, 9, %, Ty T
(8) & 3¢ fayd am (4) wad % Fum I
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34. gy A s e e ?

q. #Hd! @YEe

F. olaaeaT gaqe

5. firw fir1 o e

(1) a3 foum SO ang (2) it % & fouae SO 314
(3) o anfor & & faum s0=R ama (4) & T = & fym SO IR

35.  wioes frama g ToHEmy AT sRu
3. ot HhER IS
. YF qUERS e ey 9 i e
%, o wI@SHE0 e
.t wera: el R eem

(1) ®ad ¥ (2) Hgw

3) &, %,% 4) ¥, 9, %, 8
36. s fAae v gEaEh g IR gigan.

HA. guTaE o

¥, HEe deymed fRR gey
*.  HATAAT €95

3. U gouaed]

(1) wH = (2) ®dE

3y &, F9E (4) 3, 9,%F, 8
37. omfve Fraw s aoeEw g9 2

a.  \TRS e sy fem

b, et

C HHIS dET]

d.  \mIfHeR e

e. g7t =ATeoft

f oo qHTE

g. Al

h. g anest

(1) b,d, g (2) ade

(3) ecdh (4) o ad 999
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Questions number 38 to 43 :

Hyderabad sits nestled amongst one of the oldest rock systems of the world. These
granite rocks are 2500 million years old. Rain, sun and wind have for aeons, through their
collective and continuous physical and chemical actions, worked them into weird shapes.
Some appear perched upon each other so precariously that you feel some giant-children
playing at house making must have kept them there. From times immemorial they have

stayed like that without tumbling down. They will remain like that long after we are gone.

Golconda Fort was once a mere hillock, a hump of a giant camel, a mass of scattered
misshapen granite. It was sheer wilderness. There cow and goatherds used to graze cattle
and sheep belonging to the nearby villages. It was so popular with graziers that it took the
name of ‘hillock of the graziers’ - Golla Konda in Telugu, the local language. Golla Konda
later on became ‘Goleonda’. Hyderabad is the daughter of Golconda Fort which stands in
ruins now, eight kilometres away from the centre of the city. The fort was built about a
thousand years ago, during the Kakatiya rule (AD 1000 — 1321} which had its capital at
Warangal — a city about 150 kilometres to the north of Hyderabad.

Rudramba Devi, queen of the Kakatiya dynasty, ruled for 34 years from AD 1262 to
1296. She withstood the combined attacks of the Pandyas, the Yadavas and the Hoysalas
with the help of her grandson, Prataparudradeva who succeeded her (AD 1296 — 1323).

He too was an illustrious ruler but was subjected to repeated attacks by the Sultans
of Delhi: there were five during the two decades after AD 1303. Finally, he was defeated by
Ulugh Khan, imprisoned and taken prisoner to Delhi. On the way he committed suicide.
Ulugh Khan later became the Sultan of Hindustan, and is known as Mohammad Tughlagq.
Since his empire had extended to the south, Delhi was no longer the centre of political
gravity. He, therefore, ordered that the capital of India be shifted from Delhi to Daulatabad.
For two decades this city remained the capital of India.

38.  Which of the following statements is false ?
(1) The granite rocks have been in existence for aeons.
(2) The forces of nature have worked the rocks into strange shapes.
(3) Giant children must have stacked the rocks precariously upon each other.

(4) Though the rocks are delicately balanced on each other, they are not likely to
tumble down soon.

T FHETATS! SR / SPACE FOR ROUGH WORK P.T.O.



W05 32

39. What is the meaning of the word ‘aeon’ used in the passage ?
(1) Hundreds of years (2) Thousands of years
(3) A million years (4) An eternity

40. About Hyderabad, the passage states that :
It was built about a thousand years ago.
It was built during the Kakatiya rule.
c. It came into existence after Golconda was built,

d. It is to the south of Warangal.
(1) Only a and b are correct (2) Only ¢ and d are correct

(3) Only a, b and c are correct (4) Onlyb, ¢ and d are correct

41. From the passage, it is clear that :
Rudramba Devi had at least one son.
b. Rudramba Devi was a widow.

c.  Rudramba Devi had at least one child.
(1) Only a is correct (2)  Only a and b are correct

(3) Only cis correct (4) Only b and c are correct

42.  What is the word used in the passage that means ‘strange and ugly’ ?
(1) aeons (2) weird

(3) precarious (4) misshapen

43, About Rudramba Devi, we learn that :
a. She belonged to the Kakatiya dynasty.
b. The Pandyas and the Yadavas attacked her one after another.
c. Her grandson helped the Hoysalas.

d. Prataparudra defeated her and became king.
(1) Onlya (2) Onlyaandb
(3) Onlya,bandc (4) All four

Foe] BIETRIEY ST / SPACE FOR ROUGH WORK
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Questions number 44 to 50 :

Love is a great force in private life; it is indeed the greatest of all things: but love in
public affairs does not work. It has been tried again and again, and it has always failed. The
idea that nations should love one another, or that business concerns or marketing boards
should love one another, or that a man in Portugal should love a man in Peru of whom he
has never heard — it is absurd, unreal, dangerous. It leads us into perilous and vague
sentimentalism. “Love is what is needed,” we chant, and then sit back and the world goes
on as before. The fact is we can love only what we know personally. And we cannot know
much. In public affairs, in the building of civilization, something much less dramatic and
emotional is needed, namely, tolerance. Tolerance is a very dull virtue. It is boring. It is
negative. It is merely putting up with people, being able to stand things. Yet it is the
quality which will be most needed after the war. This is the sound state of mind which we
are looking for. This is the only force which will enable different races and classes and
interests to settle down together to the work of reconstruction.

The world is very full of people — appallingly full: it has never been so full before,
and they are all tumbling over each other. Most of these people one doesn't know, and some
of them one doesn't like: doesn't like the colour of their skins, say, or the shapes of their
noses, or the way they talk, or their smell, or their clothes, and so on. Well, what is one to
do ? There are two solutions. One of them is the Nazi solution. If you don't like people, kill
them, banish them. segregate them, and then strut up and down proclaiming that you are
the salt of the earth. The other way is much less thrilling, but it is on the whole the way of
the democracies, and I prefer it. If you don't like people, put up with them as well as you
" can. Don't try to love them: you can't, you'll only strain yourself. But try to tolerate them.
On the basis of that tolerance a civilized future may be built. Certainly I can see no other
foundation for a post-war world.

44.  The writer holds that love cannot form the basis of relationship among
a. Family members
b. Strangers
¢. Neighbours
d. Business competitors
(1 Onlyaandb
(2) Onlycandd
(3} Onlyb,candd
(4) Onlybandd
FHeelT HHTATA! AT / SPACE FOR ROUGH WORK P.T.O.
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45.  The writer calls the idea of love among nations, business houses and strangers
“absurd, unreal and dangerous” because

a. the expectation is unnatural

b. it leads to just feeling nice and nothing more

¢. it may create groupings

d. it may lead to inactivity

(1} Only a, bandc {2) Onlyb,candd
(3) Onlya,bandd (4) All four

46. In comparison with love, the writer considers the virtue of tolerance as

a. low in emotion b.  unpopular
¢.  dangerous d. negative
(1) onlyd (2) onlyaandd
(3) a,b,d (4) a,b,cd
47.  The writer suggests that if we don’t like some people, we should them.
(1) kill {2) banish
(3) avoid - {4) bear

48,  The theme of the passage is
(1) Love is not a remedy for the post-war world.
(2) Allowing spéce to others is the only remedy for the post-war world.
(3) We must first try to love; and if it doesn’t work, we must tolerate.

(4) Tolerance is an unattractive virtue.

49.  Which one of the following two statements is incorrect ?
a. In the post-war period if you like people — know them, love them.
b.  In the post-war period you should either love people or tolerate them.
(1) Onlya (2) Onlyb
{3) Neitheranorb (4) Bothaandb

50. What is the meaning of the word “appallingly” as used in the passage ?
(1) wunpleasantly {2) abundantly
(3) appealingly (4) necessarily
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TG T AT FodATd I Teoh HEET=1 Sqaq|™ Janedt 3tgd 9 T.C,, C.A., E.E,,
S.M., P.M., E.O., R.O. 37gd M0 3§ 0T, 3WhIct, !, Wi, $loarg, o0
3t gard FeY ueh, wig SaTTen fol Ugdrd. Feard gH faarza Hen amee.
T, St E.Q. 318, 39 Yeitenl Qaren Seraemd et agasaral o I Jval, @gr =
& {91, R.O. =1 Yerar AMTYL 1 HRRd 318,

et =1 wedt, oTRien AY E.O. A YeraR M. g, S U9 =1 9IS 318, = faarg R.O.
diee Fee 8.

FEET 9l E.E. T @ oEdt 39 el . ghw, s S.M. IR, ges 3y
FRA AR, T 1 9IS 7E, HEEN C.A, 3, St e IF 32, TH 91 9=t P.M.
.

W T.C. ¥ S.M. 3 9/d &1 ?

(1)
(2}
(3)
(4)

1443

In a family of seven members, the profession of each member is different and
they are T.C., C.A,, EE., SM,, PM,, E.O, R.O. They live in different cities
namely Nagpur, Akola, Amravati, Sholapur, Kolhapur, Pune and Mumbai but
separately. Two married couples are in the family.

Rama, who is E.O., goes to Pune, every week to visit his wife Rima, the sister of
Sneha, is R.O. at Nagpur.

Husband of Sheela is E.O. at Akola. Damu, the brother of Rama, has married a
R.O.

Brother-in-law of Sneha is E.E. and is working at Amravati. Pankaj, who is
S.M. is working at Mumbai. Damu's brother, Madan is C.A. at Solapur, who is
the son of Pankaj. Wife of Rama is not P.M.

Then, what is the relation of T.C. with S.M. ?

(1)
(2}
(3)
(4)

Sister-in-law
Daughter-in-law
Brother-in-law

Son-in-law
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52. &I A A wTa TG FicshA S8 tga. 3faa Ffesn gvfavmn gafa faa.
Tifed? : Hicdiadge Tanjdrem SETE seerar NG fwin g6, 3 awelear wEET g
T, @ GENiE @A ATE S St Soe aEauETe SHdl 9y § STESHdT wnard S
AT HOMA 31 Fed1 A §S AVEd. B SR d 3 FE FUE K A AEe d
FEEHG A FAAGT g AVEE, RO 7 F@od fAfUs S #i$ arae § W@a gy
g g
FIAHT
| AR T ST w1 w1 SEE, Al ST STEes @l Sl .
%, AR Gge WIS IERreaT Hd FEAT QEIfaSE =T Fdl shedl qiiEe.
i
(1} e o Fiarn g g
(2) 9 A I § § Ficshn IT Ed
(3) Ed A T HiaHA a7 TG
(4) HFd ® & HidHA AT R
Read the information and course of action based on it. Choose the option(s) that
indicate(s) appropriate course(s) of action.

Information : Inactivity produces a complex cascade of metabolic changes. Unused

muscles atrophy, and shift from endurance type muscle fibers, which can burn fat to

fast-twitch fibers that rely more strongly on glucose. Inactive muscles lose

mitochondria, power packs of the cell, which burn fat. With muscles relying more on

carbohydrates for what little work they are doing, unburned lipids accumulate and

blood becomes very fatty.

Courses of action :

a.  People should stop eating food that contains large amount of carbohydrates.

b.  People should avoid food that contains fats for reducing accumulation of fats in
blood.

c.  People should keep on doing activities that involve all muscles of the body for
remaining healthy.

Options :

(1)  All three courses of action

(2)  Only a and b follow

(3) Only a follows

(4)  Only ¢ follows

e FTHIETE! AT / SPACE FOR ROUGH WORK
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53. ST TV TH HeEH TS HGEIh T USHSA AeH SO ke
Hiadan A8 TR qaR. FOIE AT AR, A G-HRIEle TS I FHiewmH Tieee! T8
U9 gdladr. 2 I9uSdE =R FITh A1 TR U 399, uh HIERH "isdr
YHPRTAT HIG=MET 99 QUIH Geald & c4red] HUNATe Td o B hl. Seredl ThH
UG o FleHAH TAFH TS AR FTeA T Teheh O @Il geard

o1 71 fewmh Il dgr o fdfim st 9 creaemr gaie e

(1) 49 (2) 50 3) 51 (4) 52

Accompanying large cube is constructed by sticking small cubes of some nutrition
required by a species of insects under study. Dark places on the large cube indicate
small cubes eaten by insects. Four insects of two subspecies were placed in the cage
along with the cube. One insect attacked the one corner of the large cube and ate all
cubes diagonally. Remaining three insects of one subspecies attacked one cube each
on different surfaces of the large cube. Each one of these ate a line of cubes in

respective layer of cubes.

Choose the option that indicates remaining number of cubes,

(1) 49 (2) 50 (3) 51 (4) 52

FoedT PHIITS! ST / SPACE FOR ROUGH WORK PT.O.
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P,Q,R,S, T, Uanfy Vay @ saad Tohodrer 19 g 372, WTEId! 0T SHIOGEE &l 1,
2 3nfin 3 1 ITera favmd e fvfa daer. @ SEe ) 3EE 3T fRae g e
et M Tl 3P| T il et s@d. R & off s anfor faen poanfor T g tesh
T FFA SIS FH B AR, S I U R S g 3157 041 B Q S 17 e et
Bl 32, P o0 3ufifad sywdieriet W FuaEt gt gd e e 1 99 ®EE AR, VE
ad] e 3wl 3R, T T8 R =1 9i&s 1R,

(1) 3 (2) 4
3) 3fPaT4¥hH = (4) wiedt fymye womd

Seven persons P, Q, R, S, T, U and V are working on a project. They decided to get
divided in groups 1, 2 and 3 for collection of data. They have decided that there
should be at least two persons in each sub-group and at least one woman in each
sub-group. R is a woman and she wanted to be with persons other than P and T. S
and U, both men, wanted to have a chance to work only with Q. P wants to be in
group 1 to have a chance to work with an unfamiliar person. V is in group three and
T is the brother of R.

Choose the option that represents the number of women involved in the project
work.

(1) 3 ‘ (2) 4
(3) Either 3or4 (40 Information is misleading

55.

“M < R ¥t 910 & 97 1 S I vt <ot iy g o nfedie G ST A Ui

FOR T fas.

A, A=q F @1 YaM, Sl v sgafsei=n tgadl gemm 31e, W ot o & am2, s M
i st TR,

4. W anfi F aht R € ugpardt gerft 3.

(1) “3v” uFera mvfedl geaft

(2)  “3 afey @ qrardTe mfadh gLl

(3) “a1” fiFar “@” Arih! wivegl u aifeeht gesh

(4) “or Rt “&” FAHY FIvEhE mied gEh =@

Choose the option that describes correctly sufficiency of information “a” and “b” for
answering the question, ‘How is M related to R ?
a. A’s brother, F, who is the only son of his parents, is marrled to W, who is M’s

sister.
b. W and F have a only daughter R.
(1) “a” alone is sufficient

(2 Both “a” and “b” are sufficient
(3) Elther *a” or “b” is sufficient
(4) Neither “a” nor “b” is sufficient

FTqT FTETATS ST / SPACE FOR ROUGH WORK
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56. U fag sagwyte gwon feeter famgm=an st e cuaren fafire femar gedawaE
FA. G GH o HTe Wk TOATAT - BIUR ogorTqd I AT feen o

JIeH >N, T,Y,A,P, F
1Y, T,F, AP, N
ca2-Y,P,F,T AN
T 3->PFATY,N
W 4—-5PT,N,F Y A
T 55 P, N, T, A, Y, F o 3k sgazam=

T UH AEAN ufgen T S 0, D, K, W, G, X 3/ féeiean gafargg wan awnen
G, X, D, W, 0, K w3ft sgawan wefifa wwomn zor faer.

(L 22U (2) 3u (3) 4@ (4) b&ar

A symbol arrangement mechanism rearranges the input of symbols in each step by
specific rules; the example of which is given below :

Input > N, T,Y,A P, F

Stepl—- Y, T,F,A, PN

Step2->Y,P,F,T,A N

Step3-»>P,F,A, T, Y,N

Step4 > P, TN, F,Y, A

Step5—>P,N, T, A Y, F > last arrangement

If the arrangement at the first step of some input is O, D, K, W, G, X, then choose
the step from the options that will display the arrangement G, X, D, W, O, K.

6} 2nd (2) 31‘d (3) 4th 4) 5th

HoedT FTHRATS! ST / SPACE FOR ROUGH WORK ' P.T.O.
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57. R¥ W 3 W@ W AN 23 9w IuEeH ARG, SR SIVIGE WS, AT SE) A
AR 38 & e fordl agdi 3.5 sty o 0
(1) 529 (2) 508 (3) 463 (4) 484

There are 23 buses available between Dinu’s house and his school. How many ways
are possible for Dinu to go from his house to school and return using different
buses ?

(1) 529 (2} 506 (3} 463 (4) 484

58. Tsiv 4 galn s guwe Sem T sEieRtast gvamTd e 9 autsme sfad O
fran.

(1) D,50,A (2) B,49,A 3) C,50,A 4) C,51,B

Choose the appropriate set of numbers and alphabets that would replace the
question marks logically from triangle to outermost trapezoid.

A

(1y D, 50,A (2) B,49,A 3) C,50,A (4> C,51,B
FEEYT BTTATS JFT / SPACE FOR ROUGH WORK
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59. ST SREATAUR SHTIET S90iedT Qe 9% Seieqd JAeuiud shedl, 3fqn qsvfiaHm 3eumy
ygtg fasr

(1) (2)

(4)

Both block objects are turned and repositioned as shown by arrows. Choose the
alternative that is like the final arrangement.

N G

(1) | (2)

(4)

FHeTy] BETIIS! SN / SPACE FOR ROUGH WORK P.T.O.



W05

42

A

60. U Ve M e fafire gt fommmar @ 93, @ wneft fafre femgen o wafee
w3, G, ot g anf @ gdArn g g g e .

faereft wft
RiECUN
T 11
RiR U

Ja Ma

Da
Ha

Ja

Ja

Da

Ha

Da

Ma

Ha

Ch Ha

Bo

Ja Ma Ka

Da

Ka

Ch

Bo Ka
Ka Ch

Ch Bo
Bo Ma 2for am gamy.

R Tedten arnli=h 9rd I, ‘ga re bu la ra hi hai’ 3@, @ 30 ga=mdid HEagER

Tl VI s 18 ?

(1) raga haihirelabu

(2) hairagabubirela

(3) hirahaigalabure

(4) rahaigahirelabu

A word arrangement machine when given a particular input, rearranges it, following

a particular rule. The following is the illustration of the input and the steps of

arrangement,

Input : Ja
Stepl :© Da
StepIl : Ha
StepI[IT: Ja

Ma
Ja
Da
Ha

Da
Ma
Ja

Da

Ch
Ha
Ma

Ka

Ha
Bo
Ka

Ch

Bo
Ka
Ch

Bo

Ka
Ch
Bo

Ma and so on.

If ‘Step IT of an input is ‘ga re bu la ra hi hai’, what would be the ‘Step VII’, as per

the rule followed in the above steps ?

(1) raga haihire labu

(2) hairagabuhirela

(3) hirahaigalabure

(4) rahatgahirelabu

Feeq] HETHS! FRN / SPACE FOR ROUGH WORK
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61. @reft wr fqum snfr =wm fsed 1 10, 111 snfor IV ae amee. oo fagmm ga 9,
feerean fsaaiteht wivmr/wivd fiemd feear faum qhome S w3 /T, @
g vy HaeT . :

faem
A, T FE Tk A4,

9. HE R 9 IR

%. Ta o ARl e,

g 9 ofeflt e @ e

[y

I E @ W e 3Ted.

. i S afeft amma.

NI & @iE TR 9 aga.

IV. S ¥ F0E 7.

(1) wad 11 O HTar

(2) Wad 13T IV g8 it

(3)  wad I 707 111 S3Er Far

4) L II, II 31fr IV, gew geme {4 A’

Four statements and four conclusions I, II, III and IV are given. Considering the

statements to be correct, select the correct alternative about the conclusion(s), which
is (are) logical deduction(s) of the given statements :

Statements :

a.  All papers are books.

b.  Some books are pens.

c. All pens are pencils.

d. All pencils are erasers.
Conclusions :

I.  Some erasers are papers.
II.  Some papers are pencils.
ITI. All erasers are pens.

IV. Some pens are papers.

(1) Only II is deduced

(2) OnlyIand IV are deduced
(3) Only II and IIT are deduced
(4) I, II, III and IV all are not deduced

FHTTqT HHTEIST AT / SPACE FOR ROUGH WORK P.T.O.
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(3)
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63. Tauma g fasn.

(1) (2)

(3)
Choose the odd object.

(1) (2)

(3)
FoelT HHATSL AT / SPACE FOR ROUGH WORK P.T.O.
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64, diEedr Wl ¥eg, gE SRRty e fofdee omee. w@w 1 anf I mefie v
anfer R IT W AT BT, W A FWishiow 9T @y ‘REACT 91 YiscraT Tumshd

wy i Ty I
TAPE moij
courp lhhpok
TIE nls
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khlph

SIP hrp

TYRE pmlh

(1) klpih (2) kplih
(3) kplhj (4) kpilh

The words in the first colum are written in a secret manner in the second colum. The
sequence of words and letters in columns I and II may not be the same. Decode the
language and find the sequential code of ‘REACT’ from the given options :

Column I Column II
TAPE moij
CouP lhhpok
TIE nls
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khlph
SIP hrp
TYRE pmlh

(1) klpih (2)  kplih
(3) kplhj (4) kpilh

FT] FTHEIS! ST / SPACE FOR ROUGH WORK
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AN 3%

0

NR 9

(1)

Select a suitable image from the options that would replace the question mark.

(2)

(3)

(4)

A

?

AR.9%

%6

NZ €

(D)

(2)

(3)

(4)

Wo5
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66. 4 fcoiean auismuri@ miferhd, at=a1 e saeel g @rer=qr NP gt ftr ama

IACE SEE 7. S-WIRA goarE e e Set Fraer,

CY, EV, LS, RJ, WM, DJ

HA, LD, OG, QP, VM, ZP

(1) LS, 0G

(2) RJ,QP

(3) WM, DJ

4) VM, ZP

In the following alphabetical sequences below, one pair that appears in the top
sequence should appear in the bottom sequence and vice versa. Choose the
alternative pair that should be changed around.

CY, EV, LS, RJ, WM, DJ
HA, LD, OG, QP, VM, ZP
(1) LS, 0G
(2) RJ,QP
(3) WM, DJ
4) VM, ZP

67. urw Al wrRsift Waem @infawhi s g, o furen g, SR Aen e €y
facre @ geahe ATEH 30 WA A9, W H ATERes @@ €9 g o T J3TheY WY
TTEh I, ST o7t faeRe firegd. w snfor aefieRe e R €9 omga wmism wer
Vo FH 3R, T TRs e 9n €y it s onfY a1 watws figd 149 ©u wdid

W Eyrene fordl 9 ored 2
(1) 27 (2) 29
(3) 31 (4) 43

Five friends were discussing about their treasure of stamps. Anu said to Deepa, ‘If
you give me eight stamps then you will have the same number of stamps that Lali
has. If I give you my sixteen stamps then you will have stamps equal to those of
Shama.’ Total number of stamps that Anu and Deepa have is less than the number
of stamps that Shama and Lali have. If Deepa has four stamps less than those of
Mary and the total stamps that all these friends have is 149, then how many stamps
does Deepa have ?

(1 27 ' (2) 29
3) 31 (4) 43

FHoe] FTATHIG! SR / SPACE FOR ROUGH WORK
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68. AoErEaEd S FfaHt g fem v wae wie, fouma feeg w eidie Wi, uemE
fieg & weR Wi ol e 9vne fiem U dtes WiE, aEm umm 108 wigt wee
TSR, AW HIVETEl UEd A el a1 FHI geell e at UHU fohdl Hefea BeETien
U B ? '

(1) 30 (2) 60 {3y 90 {4y 120

Relatives who had gathered for a party had one bowl of rice between two, one bowl of
dal among three, one bowl of vegetable among five and one bowl of shreekhand
among six. In all they ordered 108 bowls of eatables; and no food was wasted or was
it short. How many relatives were present for the party ?

(1) 30 (2) 60 (3) 90 {4) 120

69. NI YR HHUIH! TIIEA FHEE W11 TTed! 3R,
PATNWGXMQIRCHKJSYULZVBFO
#iferkl :POZT, ?, HYJR, LCRU

(1) MUJG (2) XVuaG
{3) GVUG (4) XVYW

A series of group of letters is designed using the following sequence of letters.
PATNWGXMQIRCHKJSYULZVBFO

Series:POZT, 7, HYJR, LCRU

Choose the logical option to replace the question mark ?

(1} MUJG 2y XVUG

3 GVUG 4y XVYW

70, < Tegear faIe S@TeT HE. S 99 Togedl 9S4 G SR, 5 MY AT Qe Y
T Hehl i yEfew s fage Hed. S e @ 70 A, W Teguan Wighl e
T, S Tegue g Juit Hial 37g e a9 R 2

(L 5 2) 7
3y 9 4y 11

Jay is three times older than Gave. Aman’s age is twice of that of Gave. Addition of
Jaya’s and Aman’s age is half of Shammi’s age. If Shammi’s age is 70, then what is
the age of Dyan who is two years older to Gave ?

(1 5 @2 7
3 9 4y 11

el AT ST / SPACE FOR ROUGH WORK ~ P.T.O.
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92 O faum 7 @ge o, 9 3 % & pdes ool omed. @Rt 7 fouw @ e g wEEEh
mmﬁﬁﬁﬁéwﬁmaﬁauﬁammﬁwﬁvhmmmﬁﬁ
frae wug= o1z,

farer ¢ 3 el ET s dieE wEE R x” A1 UM HEE SR,

7ETT :

H ox7 T SofE aee weerErd T

4. o $Fa 60% TAGRHT TaaH Fel.

®. A “x” vETe 79 fEeft wrm @ <x” varean Fesvs ST favas 9.
(1) %o ¥ 9 F AeHed Ted (2) A o 9 % AdHEE AT

(3) W WAL aTed (4) Adier CHEl AT T8

Below is given a statement followed by assumptions a, b and c. You have to consider
the statement and the following assumptions to be true and decide which of the
assumptions is implicit in the statement and choose your option accordingly.

“ »”

Statement : More than twoe-third of Parliament members are members of party “x
Assumptions :

a. None of the members of party “x” is corrupt.

b.  Only 60% of voters cast their votes in the election.

c.  People voted for party “x” because they believed in the election manifesto of the

party “x”
(1) Only a and ¢ are implicit (2)  Onlyb and ¢ are implicit
(3) All are implicit (4) None of these is implicit

72,

g, T 36,000 forma sweelt wger foerdr. @t afgem 20,000 @it 8% ge Zai. emfi
A=l 10,000 AR 5% HE oA, YO AR 7% T ¢4 fUeun=yr ARl e
Tresfavamard ufgeier 6,000 Twmear @ fedt g et 2
1) 5% (2) 6%
3 T% (4) 8%

Deepak sells a scooter priced at ¥ 36,000. He gives a discount of 8% on the first
F 20,000 and 5% on the next ¥ 10,000. How much discount should he offer on the
remaining ¥ 6,000 if he is to allow 7% discount on the total ?

(1) 5% (2) 6%
(3) 7% 4) 8%
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73, fowdia 5 gt 4 ot et 6 Fie &g omw. w1 Ry sFmyseRT 49 9% FIe. ? ¥ 9y
2 srmugrRl vywrerar Fefim som w=ie fHas.
(1) 1/91 (2 2/91
(3) 3/91 4 4/77
There are 5 white, 4 red, and 6 blue balls in the bag. Three balls are drawn at

random from the bag. Choose the option that represents the probability that all of
them are blue.

(1) 1/91 (2 2/91
3) 3/91 (4) 4/77

74. 2000 wrefl fraes fom TRER Bar ® 2001 Freft yome e wivren g g 2
(1) ¥Yax

(2) TEEX

(3) TEhaAR

(4) TWaEw

If Teacher's Day was on Thursday in the year 2000, then the Republic Day was on
which day in the year 2001 ?

(1) Wednesday

(2) Thursday

(3) Friday

(4) Sunday

75. T B¢ famm zan R swar 320 fedvarsht 3 S g 40 fedvant I wem 9gE
ITR. TR gaed fao feden A wwam wRw 135 MR AFEE. w7 e awin
i g fo3n amn = vl e (fifiem) are 2 (35 9 JfFfiR Aoam wrom

¥ ALITT A BT
(1) 945 (2) 105
(3) 108125 (4) 120

A small aeroplane can travel at 320 km/hour in still air. The wind is blowing at a
constant speed of 40 km/hr. The total time for a journey against the wind is
135 minutes. What will be the time taken in minutes for the return journey with the
wind ? (Ignore take-off and landing time)
(1) 945 (2) 105
(3) 108-125 (4) 120
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76. gHSA MG UHh ¢Ha@ AR MW e va foift =edt wa= swsifarardt 39 @,
= § Ao wd i el w% 39 sweda. fawrmdia o JeeRr s g
T8 Frcandiel T DRTEETCRETS A T M SEEET A H% Hedid TR
FHAT H@E., AT RIS AR T4
(1) mﬁﬁ Heemsll, AT A1 R A RS BrEshH I REEe i

AT

(2) Vefors Fear=a ged AT AhIETE Hieed SineTer Iuen IR U,
(3) Wnﬁmﬁﬂﬁm@mwmammm

(4) mmwﬁ{qﬁmmmaqmﬁﬁmmmaﬁw

There is temple in your area and many different gender persons reside in this area
for making their living by exhorting money by creating fear in the minds of other
people. As a responsible officer of the area you request the head of the Psychology
Department of one college in the district to study the problem and prepare a report.
On the basis of this report you will

(1) approach responsible institutions for organizing programmes to make people
aware of this situation.

(2) with the help of educational institutions organize skill training programmes for
these people.

(3) approach leaders of these persons and with the help of experts help them to
acquire skills and become entrepreneurs.

(4) approach leaders of these people and ask them to stop inculcating superstitions
in the minds of people.

77.  TEA FT TH oA AT Gl oWT HVE] Uh S gEeAl UEN 8. g
m@mmﬁwﬁﬁwmﬁw T YEeaTaE <sel a9 ol
T HLAE. I qEEI,

(1) = Tera Hgurlt gem arE s T s,
(2) = el & FOw o g gy T I YNGR SN FE ded HOA § A

ST 0ed TI.

(3) I 2 <y<hielt B wUe anfer | WEfie ATUR we It oo FE AR e
TR STt

(4) =M aftemn A T IR FwdlatEr EREiqUl arTEen "ad quaTErdt SEwmH
srntaa FroarE foadt wue

In your office there is one person of a different race and another person from a

different religion. A group of your colleagues make fun of them due to their

appearance and way of dressing and make them uncomfortable. You will,

(1) not join this group and keep quiet.

(2) befriend this group and slowly help them understand how a person feels of this
treatment.

(3) befriend both these persons and gwe them emotional support and save them
from taking any extreme step.

(4) request your seniors to organize some programme to help them to be
empathetic with all persons.
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78.  TREl I uETG FEdie IEE dI F9 qerl Infir g I el T syt gEe s
Iy FUHH el A8 T HAS qH9H ARG, A8 THR @A FOGHAT, TEal & HH g
el AfwraRe e degt fod qreen @iffaet A oo Sivd Waw T @ @
FAHIYT HITRAE Pt F& TR A, foe graTen S wifme ) 95w EE S sy
HTE HEAUTE T HE I FALTR FHHG T . JE IaT,

(1) = Hftrmrarea SR rEET FHeat T FHOITET Y HOATETd! QA1 TS e HTET.

(2) HERR=A, W A Afdedd 9@y Susmen d Siare T e SuTA
Tgdten iy gefavm s 3 =i wnfie et 3 smiive aremigE seia we.

(3) e, qEnt o7ft I3y HHIGT T U AR Vg JAAT 9 60w TEEEE IR

(4) RS 9 B4 T AT TG qES sEId d WEarered] AIYGHE] HId! wl

You are residing in the area where many leaders and goons are engaged in illegal
constructions and hawking by pressurising civil officers. When you went to lodge a
complaint with the officer in charge she told you that she is not in a position to take
any action for want of any protection against these people. She also tells you that
government usually makes such types of illegal work legal by making necessary

changes in the laws. You will,

(1) blacken the face of the officer for protesting against inaction on her part under
some pretext or the other,

(2) publish articles and cartoons in local newspapers and through social media
about the trend of government giving protection to illegal constructions and
hawking on private lands.

(3) organise pressure groups against nexus of goons, leaders, and people getting
profits through illegal constructions and officers who are not ready to execute
their responsibilities.

(4) frustrated with the situation you will join a yoga class and stop worrying about
the mess around you.
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79. T @ gE=a 3w vieden frgeiEt ot wer g enfor qram e v frae
HITHTE T qemadten e w one. & freged meost gaen wemeE ames R
g, quelt ABw @ gEeaEadtT gam s, A afm oagEm eTeief swd W 9mden
qrgrevaTaret o anftr foem $em gy Fw Uw omRd. @1 el foor goe ™ eme
T T foem aramE g€ da A4

(1) ¥ HeATETen JOR 181 st grear Al frsagst g o,

(2) R gemadle A S 5w gaft e et o Hfidten geea Afvfien fesge dored
foeft st

(3) W gul Fas el ™ g =ewe onfh qu=an Affien snfie neq o=

(4) R a8 Tt W TE FFd AidwE, T =% gl et foadt sud. st
BErfi me gy anfds new wue.

You and your friend had applied for one prestigious scholarship and you have been
invited for interview for selecting one among you. This scholarship is an indication of
your academic capabilities. Your friend is equally competent. She comes from a
disadvantaged group and she and her family worked very hard to reach this stage.
She is in dire need of this scholorship and only then can she continue with her

studies. You will
(1) not appear for the interview and allow your friend to get the scholarship.

(2) appear for the interview and if selected request the committee to award it to

your friend by considering it as a special case.
{3) accept the scholarship if selected and help your friend financially.

{4} request the committee to allow both the persons to share the award if selected

and help your friend financially if necessary.

FeedT HETATS! STT / SPACE FOR ROUGH WORK
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80. e fieafver mvp greae fefide get foht 88 Frec=a om® %l
AT 3o TEohg ATeAT SATRd. GRETell "R 3718 i WT d WETaeey URigaeed
Tt e VT S SUETE Taad TEA 6 S e s st aRgg
THTS J0TA1, GHSTEA G SYgH AT, <A Gtk @ g e wwel g s
fowmft yarfa e, oriw Frvinadfm foamfl 3 W@ 9 wEfdaemren sEt sRa Hfvr o
ForeE! ey gEe 9 W et wme dEd . K grl il SUH
HTATA T T 2

(1) Y € A9 AR 378 a9 lefie Savm= sqew SUd.

(2) 91 DT HRUTHTAT T2 Soh! RS wed, @1 =T 7 Hufed wuae qEd 9,

(3) ez Namda Fuaea REd e for 7 geffh S weom= e\t

(4) w9 gefia I vgua wrervarh g .

As the Collector of the area you have received many complaints of eve-teasing by
teenagers from many groups of society. You are familiar with the fact that schools
and colleges fail to engage adolescent students in any constructive learning
programme that channelizes their energies in some personally fulfilling and socially
useful, creatively and intellectually demanding work. Many of the adolescents are
out of the schools and colleges, they dream of a wealthy and comfortable life without

any effort. What will be your priority to solve this problem ?
(1) Arrange for police protection in the areas where this menace is rampant.

(2) Arrange group meetings of eve-teasers, help them to organise groups and assist
them to engage in constructive work in the area with the help of various youth

schemes.

(3) Request selected non-government organizations to involve eve-teasers in some

constructive social work.

(4) Suggest the women and girls to dress appropriately.
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(8) wyrFned fafde oo fafire wmfle == #m (W &) =, TgfeErsrfafed somberar a1 3
FICET e FTH hodTd d HIY FOIAT FAE Fd 312, 3 T IS FTER IHTRS T
It Feled “oltemed gom=n Ao shey weaEsas sfufEe-g2” T wadien Frar
Fad ¥4 7 Il AR FAA T qNTAT FUEHRAT /R v T g9R @i serea e
TH .

(9) W yvMHEE @ fafea Foelt I HoeaHa IHEFREN @ TeTgfen e ate Tt
U3 JUEE TEET AR, W GfUrReTETdt oAl EaTe sdenn Sweiien g
THEerRTRE A Tt v st sravas AR,

. 5. 201.

. . 201.

oToll URel
Tt =1 A FOATEIE Sl gEe @ Hd ?
(1) T e wwad) (2) Sy fommEn
(3) TS THAIEA T (4)  TIATeEEHI TG

' T A I C(3) T THATET T I e, Wge A1 YEe S (3) g
A GIATTTH Y3 5, 201 FORE IHAE () 2 Iqes IUU SEIhd FEA
ZRGTIU AEva 3R,

O @ @ @

M IGHH AT FegEahdiel Ui WA A IO-FHTE @ Rt daden qiEeen
ITEGREE W @1 TTHRAEEEE GEd 9@ QO SMETfed FET grEamEr. g
erd ShTedT VTS Fieru= |radrd, f=aer a1 vIméd U= angs 4. -

Heea] BTHTATS! 91T | SPACE FOR ROUGH WORK



